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NEW QUESTION 1
DRAG DROP

An engineer is implementing NetFlow on a Cisco Nexus 7000 Series Switch.
Drag and drop the NetFlow commands from the left into the correct order they must be entered on the right.

Select and Place:

NTE-1{config)# interface <interface=>
NTK-1{config-if}# ip flow monitor NetflowMonitor input

NT7K-1(config)# feature netflow

NTE-1(config)# flow exporter NetflowMonitor
N7K-1(config)# flow record NetflowMonitor

N7K-1{config)# flow monitor NetflowMonitor

A. Mastered
B. Not Mastered

Answer: A

Explanation:
NT7K-1(config)# interface <interface>
N7K-1(config-if)# ip flow monitor NetflowMonitor input

NT7K-1(config)# feature netflow

NTK-1{config)# flow exporter NetflowMonitor
MTK-1({config)# flow record NetflowMonitor

NTE-1{config)# flow monitor NetflowMonitor

NEW QUESTION 2

Step 1

Step 2

Step 3

Step 4

N7K-1(config)# feature netflow

NTE-1{contig)# flow exporter NetflowMonitor
N7K-1(config)# flow record NetflowMonitor

NT7K-1{config)# flow monitor Netflowhlomtor

N7K-1(config)# interface <interface>
NTK-1(config-if)# ip flow monitor NetflowMonitor input

A small remote office is set to connect to the regional hub site via NSSA ASBR.

Which type of LSA is sent to the remote office OSPF area?

A. type 7 LSA
B. type 1 LSA
C. type 5 LSA
D. type 3LSA

Answer: A

NEW QUESTION 3
Which configuration implements static ingress replication?

A,
interface nve 1
member vni 3716135
ingress-replication protocol bgp

B. interface nve 1
member vani 3716135
peer vtep 10.0.0.4

€. interface nve 1
member vni 37161335
peer viep 10.0.0.4
ingress-replication protocol static
peer-ip 10.0.0.4
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interface nve 1

member vni 3716135

ingress-replication protocol static
peer-ip 10.0.0.4

Answer: D

NEW QUESTION 4
Refer to the exhibit.

OTV-5itel# show otv

OTV Overlay Information

Site Identifier 0000.0000.0111
Overlay interface Overlay200

VPN name: Overlay200

VPN state: UP

Extended vlans: 178 2500-2563 (Total:65)
Join interface(s): Ethl/2 (20.1.1.1)
Site vlan: 1999 (up)

AED-Capable: Yes

Capability: Unicast-Only

Is Adjacency Server: Yes

Adjacency Server(s): 20.1.1.1/20.2.1.1

A network engineer is setting up a multihomed OTV network. The first site has been set up with a primary and secondary adjacency server.
Which configuration must be added on the remote OTV AEDs site? A.

A interface Overlay200
otv join-interface Ethernetl/2
otv extend-vlan 178. 2500-2563
otv use-adjacency-server 20.1.1.1 unicast-only

B. interface Overlay200
otv join-interface Ethernetl/2
otv extend-vlan 178. 2500-2563

interface Overlay200

otv join-interface Ethernetl/2

otv extend-vlan 178. 2500-2563

otv use-adjacency-server 20.1.1.1 20.2.1.1 unicast-only

C.

D- interface Overlay200

otv join-interface Ethernet1/2
otv extend-vlan 178. 2500-2563
otv adjacency-server unicast-only

Answer: C

NEW QUESTION 5
A customer has a requirement to deploy a cloud service and needs to have full control over the underlying OS, data and applications.
Which cloud model meets this requirement?

A. MaaS
B. PaaS
C. SaaS
D. laaS

Answer: D

NEW QUESTION 6
An engineer is implementing an import operation in Cisco UCS Manager.
What is the impact of performing this operation?
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A. Information can be modified on the management plane only.

B. A configuration can be imported from a higher release to a lower release.

C. An import operation can be scheduled.

D. Only a configuration file that was exported from the same Cisco UCS Manager can be imported.

Answer: A

NEW QUESTION 7
An engineer is seeking the most optimal on demand CPU performance while configuring the BIOS settings of a UCS C-series rack mount server.
What setting will accomplish this goal?

A. C6 Retention

B. C6 non-Retention
C. C2 state

D. CO/C1 state

Answer: A

NEW QUESTION 8
Which command reduces the amount of time it takes to complete the ISSU on a Cisco Nexus 7000 Series Switch that has dual supervisor modules and two I/O
modules?

A. install all epld bootflash:<image> parallel

B. install all kickstart <image> system <image> parallel
C. install all kickstart <image> system <image>

D. install all epld bootflash: <image>

Answer: B

NEW QUESTION 9
Multiple roles are applied to a user on the Cisco MDS 9000 Series Switch.
Which statement is true?

A. The last role assigned takes precedence over previous roles.

B. Access to a command takes priority over being denied access to a command.
C. Any commands that have conflicting settings between roles are denied.

D. The first role assigned takes precedence over subsequent roles.

Answer: B

NEW QUESTION 10
Refer to the exhibit.

FI-1# scope oxrg /

FI-1 /org # create maint-policy maintenance

FI-1 /org/maint-policy* # set reboot-policy timer-automatic
FI-1 /org/maint-policy* # set soft-shutdown-timer never

Which action must be taken before the maintenance policy can be committed?

A. Specify a maintenance time by selecting a schedule.
B. Associate a service profile to the maintenance policy.
C. Set the soft shutdown timer to a specific time.

D. Set the policy to apply the changes on the next reboot.

Answer: A

NEW QUESTION 10
A Cisco MDS 9000 Series Storage Switch has reloaded unexpectedly.
Where does the engineer look for the latest core dump file?

A. /mnt/recovery
B. /mnt/core
C. /mnt/logs
D. /mnt/pss

Answer: D

NEW QUESTION 13
An engineer must implement a Cisco UCS system at a customer site. One of the requirements is to implement SAN boot. The storage system maps the source
WWPN to a unique LUN. Which method does Cisco recommend to configure the SAN boot?

A. Define the vHBASs as bootable and leave the boot target definition empty.

B. Create a SAN boot policy in which every initiator is mapped to a different target LUN.

C. Define the vHBAs as bootable and leave the default values on the boot target definition.
D. Create a SAN boot policy in which every initiator is mapped to the same target LUN.
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Answer: D

NEW QUESTION 15
In an FCoE environment, for which two sets of data must an interface that implements the PAUSE mechanism always provision sufficient ingress buffer? (Choose
two.)

A. frames that were sent with high credit

B. frames that were sent on the link but not yet received

C. frames that were processed and transmitted by the transmitter after the PAUSE frame left the sender
D. frames that were processed and transmitted by the transmitter before the PAUSE frame left the sender
E. frames that were sent on the link and received

Answer: BD

NEW QUESTION 16
Which statement about the MAC address that the FCoE Initialization Protocol chooses for use by an E-Node in an FCoE implementation is true?

A. The FCoE Initialization Protocol uses a 24-bit FC-MAP and concatenates a 24-bit Fibre Channel ID to create a fabric-provided MAC address.

B. The FCoE Initialization Protocol uses the burned-in MAC address of the converged network adapter for all FCoE operations.

C. FCoE does not use a MAC addres

D. The FCoE Initialization Protocol is used to acquire a Fibre Channel ID, and the address is used for all FCOE communications in the same way as Fibre Channel
Protocol.

E. The FCoE Initialization Protocol uses 01.00.0C as the first 24 bits of the MAC address and appends a 24-bit Fibre Channel ID to derive a full 48- bit FCoE MAC
address.

Answer: AB

NEW QUESTION 17
Which statement about monitoring Fibre Channel traffic on a Cisco UCS 6332 Fabric Interconnect is true?

A. Fibre Channel traffic can be monitored only on one VHBA per server.

B. Fibre Channel traffic can be monitored as it is encapsulated as FCoE.

C. The monitoring of Fibre Channel traffic is limited to the default VSAN.

D. The destination port for monitoring must be an unassigned Fibre Channel port.

Answer: A

NEW QUESTION 18
An engineer is converting a Cisco MDS switch to support NP1V mode.
What should be considered when implementing the solution?

A. It requires mapping of external interface traffic.
B. It must be enabled on VSAN 1 only.

C. It must be enabled globally on all VSANSs.

D. It requires the FLOGI database to be disabled.

Answer: C

NEW QUESTION 21
An administrator needs to configure an automated policy to shut down a link when a given threshold is exceeded on MDS switch. Which feature needs to be used?

A. RMON

B. EEM

C. Call Home
D. Scheduler

Answer: B

NEW QUESTION 24
An engineer is asked to modify an overridden policy by changing the number of FCNS database entries to 1500 and then generate a message.
What Configuration will accomplish this task?

A. event manager applet fcns_policyevent fcns entries max-per-switch 1500action 1.0 syslog priority warnings msg FCNS DB entries have reached the EEM limit
action2.0 policy-default

B. event manager applet fcns_policy override fcns_entries_max_per_switchaction 1.0 syslog priority errors "CNS DB entries have reached the EEM limit" action
2.0 policy-default

C. event manager applet fcns_policy override fcns_entries_max_per_switchevent fcns entries max-per-switch 1500action 1.0 syslog priority warnings msg FCNS
DB entries have reached the EEM limit

D. event manager applet fcns_policy action 1.0 syslog priority warnings msg FCNS DB entries have reached the EEM limit action 2.0 event-default

Answer: C

NEW QUESTION 27
An engineer is asked to manage a large-scale data center and collect information from multiple Cisco NX-OS devices using Cisco NX-OS Data Management
Engine model.
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Which technology should be used to accomplish this goal?

A. NETCONF
B. NX Yang

C. NX-AP| REST
D. JSON-RPC

Answer: C

NEW QUESTION 29
Which configuration generates a syslog message when CPU utilization is higher than 60%°?

A. event manager applet HIGH-CPU event snmp oid 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type exact entry-op gt 60 poll-interval 5 action 1.0 syslog priority
notifications msg "cpu high"

B. event manager applet HIGH-CPU event snmp oid 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type exact entry-op It 60 poll-interval 5 action 1.0 syslog priority
notifications msg "cpu high"

C. event manager applet HIGH-CPU event snmp oid 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type next entry-op gt 60 poll-interval 5 action 1.0 syslog priority
notifications msg "cpu high"

D. event manager applet HIGH-CPU event snmp oid 1.3.6.1.4.1.9.9.109.1.1.1.1.6.1 get-type next entry-op It 60 poll-interval 5 action 1.0 syslog priority notifications
msg "cpu high"

Answer: A

NEW QUESTION 34
Refer to the exhibit.

NEXUS (config) # feature tacacs+

NEXUS (config) # tacacs-server timeout 5

NEXUS (config) # tacacs-server directed-reguest

MEXUS (config) # tacacs-server deadtime 0

NEXUS (config) # tacacs server host 10.1.50.20 port 49
MEXUS (config) # tacacs-server host 10.1.50.20 key 7 "Flwhgl23" timeout 1
NEXUS (config) # aaa group server tacacsat ISE

NEXUS (config-tacacst) # server 10.1.50.20

MEXUS (config-tacacs+) § deadtime 10

NEXUS (config-tacacs+) # use-vrf management

MEXUS (config-tacacs+) § source-interface mgmt 0O

NEXUS (config)® aaa authentication legin default group ISE

What is the result of implementing this configuration?

A. The switch queries the TACACS+ server by using an encrypted text PAP login.
B. The TACACS+ server uses the type-6 encrypted format.

C. The switch queries the TACACS+ server by using a clear text PAP login.

D. The timeout value on the TACACS+ server is 10 seconds.

Answer: D

NEW QUESTION 37
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